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= Lloyd Shapely: Nobel Prize in economics in 2012
= Cooperative game theory, & ZHA| & A &
= 7174 Al game
« 37[X 14 271 O|O|H Ml&, 871X 3 (E3E) €125 HE
1 data + 1 algorithm => 1 ':*31 fOK| Q| S K|S
- O|O|H 17il= S=(redundant)
e {1 {2}, {3} (1.2}, {1.,3} {23}, {1,2,3}
* Worth of a coalition(v): Agf L] #+d2=0| &ddtA = =+ QU
= 7t
cv(1)=v2)=v3)=v(1,2)=0
v(2,3) =v(1,3) =v(1,2,3) =1
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"2 x = (Xq, X, X3). X(N) = % + X, + Xs.
O E 28 x(N) = x(1,2,3) = x; + x, + x3 = v(N)

m 7|- Ol OI'E.l S Xq > U(l) X9 = U(Z) X3 = U(B)
s O St oI-E_l)g

L= =
* x(1,2) =2 v(1,2) x(1,3) = v(1,3) x(2,3) = v(2,3)

“Core = 7 2lgtE|d, Agee|d, AT E =25)
*x1=20 x=20x3=0
*xX1+x, =20 xy+x3=21 x, +x3=21 x4 +x, +x3=1

s 3Bt corex; =0, %,=0,x3= 1.
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< Z7Rt 27F MZ FIDF (0, 1/3, 2/3)

« 27| Xt 10| CHAl RIQF (174, 0, 3/4)
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The Shapley value
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The Shapley value and basic income

= MEZ2| 7t
L UBHO| JhX| 2 NI EHjsHs Y
= AT (0, 0, 1) vs Shapley value (1/6, 1/6, 4/6)
« O A Q0| M= AHE 2| 7HX|= AT oS EdE = QUL
« | Z 2| 7HK|0f| 2 EHYE 8= ghH
- Z3Z 7|9 +ﬁ01| 50% ItMl, 7| 22522 =2 HY
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Ec| 7tX|= SE5H0
2T AFEFS| 7| Q| 578t ALt (Shapley, 1969)
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The Shapley value
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